
 

 

 

THE JAIN WORLD SCHOOL , MATI 

WINTER HOLIDAY HOMEWORK (2024 – 2025) 

CLASS – XI A 

“ Snowflakes of knowledge: Winter Break Challenges” 

 

Dear Parents, 

We hope this message finds you well. At THE JAIN WORLD SCHOOL, we believe that learning 

becomes most effective when it involves collaboration between teachers, students, and families. 

Assignments are a key part of your child's academic journey, designed to reinforce classroom 

learning, develop critical thinking, and cultivate independence. 

To ensure your child gets the most out of their assignments, here are some ways you can encourage 

their active involvement: 

* Create a Positive Learning Environment: Provide a quiet, well-lit space where your child can 

focus without distractions. 

* Set a Routine: Help your child establish a consistent time for completing assignments, balancing it 

with leisure and other activities. 

* Show Interest: Ask about their assignments and listen as they explain what they’re learning. This 

can boost their motivation and confidence. 

* Offer Guidance, Not Answers: Encourage your child to think critically and solve problems 

independently while being there for support when they need it. 



 

 

* Celebrate Efforts and Progress: Acknowledge your child’s hard work and milestones, even when 

challenges arise. 

 
 

NOTE:- Do all the given work in English language Notebook. 

1 . Solve the following worksheets. 

 

                                  WORKSHEET-3 COMPREHENSION  

                                                       English Core (301)   

Read the passage given below.   

In small town, there lived a beautiful family of five members including an old man 

who was the head of the family and his only son, daughter -in-law and two 

grandchildren. The family had not lot of fun and enjoyed life to the fullest. As a 

family, they always had dinner together, every day.  

However, as days passed by, the health of the old gradually weakened. His vision 

become very poor, he his hands and legs started trembling.   

One day, while serving dinner, the old man whose legs and hands shivered  and who 

couldn’t see properly split the food on the table. With his trembling hands, he wasn’t 

able to eat properly. He let the glass of milk fall on the table cloth. His son and 

daughter-in-law were completely annoyed,  as he messed up the dinner. It was 

repeated for a next time as the old man couldn’t help himself. His son was irritated 

and his wife said, “I can’t bear this anyone. He spoils our dinner time. We should do 

something about it.” He agreed. Soon they set up a new table and chair in the corner 

of the hall and made him sit there to eat food. The old man wasn’t able to hold the 

glass or plate and he broke a few pieces of utensils. His son gave the old man a 

wooden bowl so it wouldn’t break. While the rest of the family seemed to enjoy their 

meals, the old man was in tears as he had to eat his food alone. The old man would 

often recollect happy memories of family and could barely tolerate his current 

situation.  

Days passed and the old man died quietly. After his funeral, they were cleaning the 

house when his five year  old grandson Vikram and his elder sister Zoya began to 

search for something. This was noticed by their father who asked his children. ‘What 

are you searching for?’ Zoya replied, “The wooden bowl in which grandpa ate food !’ 

Curiously he asked, ‘But why?’ To which Zoya thoughtfully replied, ‘ We want to 

preserve it in memory Grandpal!’ The children found the bowl and keep it in a safe 

place. Then Vikram asked his father, ‘Did can you buy one more bowl like this?’. 

Surprised by the question, he asked, ‘Why son?’ To this Zoya  prompted replied, ‘See 



 

 

we have only bowl. When you and Momma get old , how will we feed you both with 

one bowl? So we want you to buy another one for Momma ?’ The elders realised their 

mistake, but it was a bit late in the day.   

1. Which of the following statements is TRUE in the context of the story?  

a)The old man’s daughter-i-law took very good care of him till his last breath.  

b) Vikram and Zoya loved and respected the elderly.  

c) The old man had left the huge property for his only son after his death.  

d) The old man was eating food in a wooden bowl.  

2. Which of the following qualities described the old man’s daughter-in-law the 

best in the context of the story?  

a) Extremely   

b) Selfish   

c) Annoying   

d) Meek  

3. According to the story the old man food alone in the corner because _________  

a) He didn’t enjoy having food with his family anymore.  

b) He did not want the dinner table to make messy.  

c) His grandchildren would make a noise which he couldn’t bear.  

d) Other than those given in the options.  

4. As mentioned in the story, Vikram requested his father to get another wooden 

bowl because ___  

a) He wanted  to replace old utensils with new wooden ones.  

b) It was his grandfather’s last wish and he wanted to fulfil it.   

c) He wanted it for giving food to his mother when she became old.  

d) He was fond of wooden vessels.  

5. Which of the following is most nearly the opposite in meaning to the word  

“PRESERVE” as used in the passage?  

a)store 

b) Dry  

c) Discard  

d) Eradicate  

6. Which of the following correctly explains the phrase, ‘Late in the day’ as used 

in the story? a)‘In early afternoon  

b) Too old to be useful  

c) Too new to be used  

d) Too late to be of any use  

7. Which of the following can be an appropriate title for the story?  

a) Never Hurt Your grandfather   

b) The ill grandfather  

c) The wooden Bowl  

d) The wise parents  

8. Which of the following is the most nearly the same in meaning to the word 

‘RECOLLECT” as used in the story?  



 

 

a) Remember  

b) Remind  

c) Prompt   

d) Purchase  

 

              WORKSHEET-5 COMPREHENSION-CASE BASED 

Read the passage given below.   

The Ganges is one of the largest rivers in Asia. It rises in the Himalaya Mountains 

and flows over 2500km through India and Bangladesh into the Bay of Bengal.  

However, the Ganges, India’s holy river, is also one of the most polluted in the 

world. The Ganges River basin has a size of over 1 million square km. It lies in one 

of the most populous regions on earth. About 500 million people, half of India’s 

overall population, live in the Ganges river plains.   

There are many causes of Ganges river pollution. About 2 million Hindus battle in 

the river every day. During religious ceremonies, up to a hundred million people 

clean their sins away in the Ganges River. They believe that bathing  in the river 

will make them pure. In addition, thousands of bodies are cremated near the river, 

especially around the holy city, Varanasi. The ashes are often released into 

Ganges.   

The Ganges also provides water for farming land, which is increasing at a 

tremendous rate. Irritation projects cause water levels to go down along the river. 

More and more dams are being erected along India’s holy river, mainly to produce 

energy for Delhi and other large cities in the area.   

The river flows through 30cities with a population of over 100,000 each. 

Everyday, 3 billion litres of untreated water from these big cities pass into the 

Ganges River, along with remains of animals.  

 
Ganges River Pollution: A case Study of Causes of Ganges River Pollution.   

Because of India’s lax environmental regulations, industries along the river release 

chemicals and other poisonous material into the Ganges. In some places they are a 

thousand times over the allowed limit.  Especially India’s traditional leather 



 

 

industry needs great amounts of water . In addition, fertilizers from the fields find 

their way into the ground water, and ultimately flow into the river. Altogether, the 

amount of Industrial pollution has doubled in the past 20 years.  

This widespread pollution of the Ganges River has also led to major health 

problems. Many diseases are common, including cholera, hepatitis and diarrhoea.  

While India’s population keeps growing, more and more people are leaving the 

countryside and moving to big cities along the Ganges. As a result, the river will 

not be able to cope with even more people.  Life in the river is also at risk. Recent 

reports have shown that there is high a level of mercury in some fish. The 

construction of dams is destroying forests and vegetation, killing off many animals 

and plants. India authorities are fighting an upward battle towards cleaning up 

Ganges River. International organizations have offered help. The World Bank has 

agreed to give India a loan of up to a million dollars to clean up the Ganges River.   

1. From which of the following neighbouring countries, the Ganges flows 

through India into the Bay of Bengal? a)China  

b) Bhutan  

c) Bangladesh  

d) Sri Lanka  

2. How many people ( in million) clean their sins away in the Ganges River?  

a)2   

b) 100  

c) 500  

d) 750  

3. According to the passage, which disease in not common due to the 

widespread pollution of the Ganges River?  

a)Influenza  

b) Diarrhoea 

c) Hepatitis  

d) Cholera  

4. According to the passage, which industry in India needs great amount of 

water? a)Lock   

b) Dyeing   

c) Cloth   

d) Leather  

5. Which International organisation has agreed to give India a loan of a billion 

dollar to clean up the Ganges River?  

a) The World Bank   

b) IMF  

c) ADB  

d) IDA  

6.The bar graph shows that the River Ganges has got polluted badly. The 

sewage treatment plants had been established. Which of the following is true 

? 



 

 

a) The treatment capacity is equal to the sewage generation   

b) The sewage generation is less than the treatment plant.  

c) The sewage generation is more than the  treatment capacity installed.  

d) The treatment plant is sufficient.  

 

              WORKSHEET-7 COMPREHENSION-CASE BASED 

                                                        

 Read the passage given below.  

Manav Singh had been farming his land for the past 20 years. His father had 

also been farming in the same land. But now he is unable to irrigate the 

agricultural land as the ground water level has gone down and the monsoon rains 

are also irregular. He has an option to connect the cannal irrigation that the 

Government has initiated but is finding it difficult to implement the process. He 

knows that Farmers worldwide will need to increase crop production, either by 

increasing the amount of agricultural land to grow crops or by enhancing 

productivity on existing agricultural lands to meet the global demand.  

 

However, the ecological and social trade -off of clearing more land for 

agriculture are often high, particularly in the tropics. And right now, crop yields 

the amount of crops harvested per unit of land cultivated are growing too slowly 

to meet the predicted demand for food. Even if some regions increase their output 

and traders reduce the mismatch between supply and demand, doubling food 

production by 2050 will undeniably be a major challenge.  

 

Thus the last resort for farmers, Manav Singh thinks would be to grow more 

on the land they currently operate through what is called “sustainable 

intensification”. This means using precision farming tools, such as GPS fertilizer 

dispenser, advanced irrigation systems, and environmentally optimized crop 

rotations. These methods can help produce more crop, especially in parts of 

Africa, Latin America and Eastern Europe with large yield gaps.. They can also 

reduce the negative environmental impacts from over stressing resources -

preventing groundwater depletion and the destruction of fertile lands through 

over-use of fertilizer.  

Net irrigated area (%) of India has increased from nearly 18 to 48% in recent 

times due to government interventions at various levels (Fig. 1). Although the 

government has given much emphasis on improving canal system in various five 

year plans but it has declined over years (Fig. 1).  

People have identified groundwater irrigation as much reliable and independent 

source of irrigation. Groundwater irrigation has taken quantum jump since 1965.   

 



 

 

 
 

Fig. 1. Percent net irrigated to net sown area and per cent canal irrigated & per cent 

groundwater irrigated to net irrigated area (Source: based on data from DES, 2017-

18); NIA %: Net Irrigated area to net sown area, GW %: Groundwater share in net 

irrigated area, SW %: Surface water share in net irrigated area  October-December 

2019] 

 

In order to attract more investments in agriculture, the risks need to be 

reduced by governments. Regulators need to overhaul policies that is affecting 

the inclusion of small, rural farmers into the financial system. More supportive 

policies, laws and public spending on infrastructure would help create a 

favourable investment climate for agriculture. 

1.Which of the following pairs given in the options can conclude Paragraph 3 

and start 4 respectively?  

A. Over the last 30 years, investment in agriculture has declined resulting in 

low productivity and stagnant production.   

B. Thus, as banking sectors in developing countries give fewer loans to 

farmers are bearing huge losses.  

C. If we have to use methods extensively more agricultural research is needed 

which further highlights the need of investments in agriculture.  

a) C- A  

b) C-B  

c) A-B  

d) B-A  

2.What does the author want to convey by, ‘would help create a favourable 

investment climate for agriculture’ as mentioned in the passage in the 

italics?  

A. The climate conditions need to be improved to improve food production.  

B. With supportive policies and laws investments in agriculture are likely to 

increase.  

C. Lower returns in agriculture are the main reason behind low investment.  



 

 

 a)Only A & C  

b) Only A & B  

c) Only B  

d) Only B & C  

3. Which of the following is /are true according to passage?  

A. Paragraph 2 only highlights how food demand can easily be met in the 

near future.  

B. Rising food demand is likely to affect developed countries more 

severely than the developing countries.  

C. Increasing land under agriculture, can impact the ecology negatively. 

a)Only A & B   

b) Only B   

c) Only C  

d) Both A & C  

4. What is the author’s view about sustainable intensification mentioned in 

paragraph 3?  

a) It I only useful for countries which have small yield gaps.  

b) It may increase food production to meet the rising demands.  

c) It will have a tremendous negative impact on the environment.  

d) It is hyped and may not work in the long run.  

5. The graph indicates that the irrigation of agricultural land 

in India using canal system has  

_______    

a) Increased through the years  

b) Decreased through the years   

c) Equal all these years   

d) None of the above  

6. Irrigation of agriculture land has increased in the recent 

years through:- a)Rain water  

b) Monsoon rain  

c) Canal water  

d) Ground water  

2.. You are Ram/Rajani. Draft a classified advertisement, in not more than 50 

words, to be published in India Times for the sale of a used motor car giving all 

the necessary details. You can be contacted at 12345679. 

3 .You are a member of the social awareness team of your school and you have to 

participate in an awareness drive regarding the importance of water. Prepare a 

poster highlighting the importance and ways of rainwater harvesting that can be 

implemented by the residents of the area.  

4 .Write a speech in 150-200 words on ‘Benefits of early rising’ to be delivered by 

you in the morning assembly of your school. You are Karuna/Karan, Head 

Girl/Head Boy. 

 



 

 

5 .“ONLINE SMART CLASSES ARE THE FUTURE OF EDUCATION 

STYLE”. Write a debate either for or against the motion. (120 – 150 words). 

 

LITERATURE 

Write summary of the following poems AND chapters. 

THE VOICE OF THE RAIN 

FATHER TO SON 

CHILDHOOD 

The adventure 

The address 

 

 
 

1-- निम्ननिखित निषय पर िगभग 120 शब्दों में रचिात्मक िेि निखिए  

 "प्रथम रेि यात्रा का िर्णि" 

 

              अथिा  

 आपका िाम गदनिोंद न ोंह है के. पी. एम. जी कों पिी में माकेन ोंग एग्जीकू्यन ि 

की आिश्यकता है  ाइम्स ऑफ़ इों निया में इ  पद हेतु निज्ञापि प्रकानशत नकया 

गया है आपिे एम.िी.ए  यूनििन ण ी रदहतक  े एमबीए नकया हुआ है आप 

िौकरी की तिाश में है अतः आप इ  पद पर नियुखि पािे हेतु एक आिेदि पत्र 

निखिए तथा स्विृत्त भी तैयार कीनजए 

 

 SOLVE THE THREE SAMPLE PAPERS FORWARDED IN YOUR 

CLASS WHATSAPP GROUP. 

 THIS WORK NEED TO BE DONE IN YOUR PHYSICS NOTEBOOK. 



 

 

 

 Some Basic Concepts of Chemistry .(name of the students who belongs to Roll 

No. –1,3,5,7 ) 

 Structure of Atom.(name of the students who belongs to Roll No. - (2,4,6,8) 

 Classification of Elements and Periodicity in Properties. 

(name of the students who belongs to Roll No. –( 9,11,13,15) 

 Chemical Bonding and Molecular Structure. 

(name of the students who belongs to Roll No. –(10,12,14,16,33) 

 Chemical Thermodynamics.(name of the students who belongs to Roll No. –

(17,19,21,23) 

 Equilibrium.(name of the students who belongs to Roll No. –(18,20,22,24) 

 Redox Reactions.(name of the students who belongs to Roll No. –(25,27,29,31) 

 Organic Chemistry: Some basic Principles and Techniques. 

(name of the students who belongs to Roll No.–(26,28,30,32) 

Note: 1     The unit has been given to all of you students. You should prepare its 

synopsis. After Winter break your peer assessment will start. 

Note: 2 “Do Ten Short type questions related tounit in the given assignment 

according   to the roll no.” 

Prescribed books 

NCERT textbook  

NCERT examplers 

Modern Abc 

 
● Complete the following worksheets in your homework copy(Access the 

worksheets by the given link-  



 

 

● Worksheet 1 link : 

https://drive.google.com/file/d/1_MUscsCUTGG-

hMNKrsIrnkzcsnJVSPIP/view?usp=drivesdk 

● Worksheet 2 link : 

https://drive.google.com/file/d/1_BERtBDu42QuYeTW6PlBEbKBNtm3M

sUu/view?usp=drivesdk 

 

SCIENTIFIC INVESTIGATION 

1) Do the assignment/investigatory project/Model as per the given topic 

by concerned subject teacher. 

 

PROBLEM SOLVING 

Solve the questions given on the topic Neural control and coordination  

  1. What is arthritis? 

  2. What is the total member of bones present in the left pectoral girdle and the left    

arm respectively in  a normal human? 

 3. List functions of skeleton in higher animals? 

4. Define a joint. 

5. What is osteoporosis? Name two factors which are responsible for osteoporosis. 

6.  Explain the initiation of muscle contraction. What is the role of sarcoplasmic 

reticulum, Myosin head and F-actin during contraction in striated muscles? 

7. What are the three types of muscle tissue? Write two characteristic points about 

the structure of each of them? 

8.  What is the role of Ca** and ATP in muscle contraction? 

 
 

https://drive.google.com/file/d/1_MUscsCUTGG-hMNKrsIrnkzcsnJVSPIP/view?usp=drivesdk
https://drive.google.com/file/d/1_MUscsCUTGG-hMNKrsIrnkzcsnJVSPIP/view?usp=drivesdk
https://drive.google.com/file/d/1_BERtBDu42QuYeTW6PlBEbKBNtm3MsUu/view?usp=drivesdk
https://drive.google.com/file/d/1_BERtBDu42QuYeTW6PlBEbKBNtm3MsUu/view?usp=drivesdk


 

 

 SOLVE THE SAMPLE PAPER FORWARDED IN YOUR CLASS 

WHATSAPP GROUP. 

 THIS WORK NEED TO BE DONE IN YOUR P.Ed. NOTEBOOK. 

 Do the assignment/ project chart as per the given topic by concerned 

subject teacher. 

 

 

 

 

 

 

 

 

Task A:-  

Do the Project Work (File). 

Important Note:- On the above information submit file with acknowledgement , 

certificate , bibliography , etc. File should be designed carefully as per CBSE 

guidelines, Make a Calculator program by using Python Modules with minimum 25 

functions are required. 

Your involvement plays a vital role in making assignments a meaningful part of your child's 

education. If you have any questions or need further support, please don't hesitate to reach out to us. 

Thank you for partnering with us in your child’s learning journey! 

Warm regards, 

Principal  

The Jain World School 

Mawar , Mati 
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